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BT £ %2 i BE D E i B
1 WEER  RITHRERIST 1 4900 5500 10.400
o TR B L1 YR—RGID 1 5400 4800 10.200
3 WKk HFE  TIL—IVIRG 1 4400 4650 9.050
4 B ER JIPU-RGIST 1 4200 4700 8.900
5 Ihith & Wing’zAZEDRG. 1 3700 4550 8250
6 HiEEZE MRIIRG 1 4100 3900 8000
7 XHWE  BHIRGHST 1 4400 3300 7700
8 BWBE IRSWIRG 1 3000 4500 7500
O BN KE ERK—SXIY—RG 1 3600 3150 6.750

10 HEZE  WinglRAZEDORG, 1 2200 4250 6.450

11 BK ERE RIIRG 1 3400 2.800 6.200

12 BN L1 YR—RGBHBD 1 3200 2750 030 5650

13 FEES BHRGYST 1 1900 3550 5450

14 )W 8BS BRIRGYST 1 1900 2850 4750

15 AW Bl BHRGYST 1 1700 2600 4.300

2F%E

BT K % P BE D E i B
1 BTHE BRE-—S%HY—-RG 2 5300 3800 9.100
o BIHE  EROSWR 2 4000 4450 8450
3 T8 & L1 YIR—RG.ID 2 4700 3500 8200
4 KA BRI WinglsAEDRG. 2 4000 4150 8.150
4 ¥MHE  WingHSERG 2 4100 4050 8.150
6 MEBE  WineltAEDORG, 2 3600 4050 7650
7 0B W%E  TIL—IVIRG 2 3700 3750 7.450
8 /L BE  IRISKIRG 2 4100 2800 6.900
o HZEE Wing»&ERG. 2 2700 3100 5.800

ST4E

BRI K & i BE D E i B
1 RN BN IRISKIIRG 3 5100 4300 9.400
O MBI IRISKIRG 3 3600 4300 7.900
3 T tAE  RIIRG 3 3300 4050 7.350
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IBfi £ & PhizE =akad D E = (==
1 X ;S ETVYTILARG 1 5.200 4900 10.100
2 =& Bk Wing’ls AEDRG. 1 4700 4650 9.350
3 KK = Wing’2AEDRG. 1 3.800 4.800 8600
4 K| BBE TJI—=VIRG 1 3.800 4750 8550
5 I\ 68 TJI—=VIRG 1 4.000 3.350 7.350
o £A B IRIS¥AJIIR.G 1 3.800 3450 7.250
7 L% IBEE J1xP)—RGDST 1 3.300 3.900 7.200
8 LTk BEYY SEIRG. OS> 1 3.800 3.150 6.950
O BR MKE BRN—IWIAY—RG 1 2900 3.850 6.750

10 2l &<5 BREIRGOST 1 4.000 2250 6.250

11 MR T2 TWINS Jr. 1 3.600 2450 6.050

12 B Ky L1 YI—RGBD 1 2.800 3.050 5850

13 B EXF FRRO>STA)—2T 1 2900 1.950 4850
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IBfiI X & PhiE =okad D E =t (==
1 6l HBRE L1 UMN—RGHD 2 5500 5150 10.650
2 N\BUY g EITVYITILARG 2 4.800 4650 9450
3 WA H=E RIS IIR.G 2 4900 4500 9.400
4 =g AR TJI—=VIRG 2 5.000 3.850 8850
5 MH EE Wing’2 AEDRG. 2 4.300 4250 8550
6 Ws ¥ L1 YM—RGHD 2 3.800 3.600 7.400
N 5 IS Higph2R 2 5.000 2.200 7.200
8 SH IBE TJI—=VIRG 2 3.900 2950 6.850
O BH FH TJI—=ZVIRG 2 3.400 3.150 6.550

10 ERlE ENR WingH=ERG. 2 1.700 3.500 5200

3545

IBfi 8 & Phiz =okad D E = (==
1 TN 88 IRIS¥JIIR.G 3 5.200 4550 9. 750
2 0 s L1 YM—RGHD 3 3.600 4900 8500
3 BN EE IRIS¥AJIIR.G 3 4500 3.950 8450



